
ICS 141: Discrete Mathematics I (Fall 2014)

2.6 Matrices
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Find AB if

a) A =

[
2 1
3 2

]
, B =

[
0 4
1 3

]

b) A =

1 −10 1
2 3

 , B =

[
3 2 −1
1 0 3

]
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Let

A =

[
1 1
0 1

]
Find a formula for An, whenever n is a positive integer.
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Let A be the 2× 2 matrix

A =

[
a b
c d

]
Show that if ad− bc 6= 0, then

A−1 =

 d

ad− bc

−b
ad− bc−c

ad− bc

a

ad− bc



Extra Problem

Let

A =

1 1 1 3
2 0 4 6
1 1 3 7


What is At?
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Let A =

1 0 1
1 1 0
0 0 1

 and B =

0 1 1
1 0 1
1 0 1

 Find

a) A ∨B

b) A ∧B

c) A�B
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